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Figure 1 - Flywheel
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Figure 2 - Flywheel
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Figure 3 - Flywheel
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Figure 4 — The position of a Flywheel in an engine
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Figure 5 — schematic of the model
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Figure 6 — Comparison of m1 & m2
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Figure 9 — omega versus theta
Cadgh Olgion (ol ,5lidS) jgige jgliiS Jlaged e b g aygli=jslisS Jloged 4y axgi L
T T
10,000 *  + 6000 * — = Ty, (2)

16,000 x

ot =~ 5 = 2000 ft — lb

eS Slgly Ce s g 220 0 t)O Wgly 4o din Glagl) Ce s aS Dad oo oanlie 9 loges 4 axg5 b

gy algS 55 Oy i (6551 50 ydS (o den 1A 00 0 ) 4250 135 aygl; 5o
A /A T
Unax = (10,000 — 2000) = 7 + (0 — 2000) * 7 + (6000 — 2000) * i

7854 ft — Ib (94,248 in — b)
g o Dbl p Ojpa Gy copo wp ol Glp b op S wazg byl Jguz azgi b
C; = 0.2

g ale> 5 Oygar ool w bl Gles 0ad Glo Ly, Gebo



94,248

]reCId = 0 2 2 * T * 1200 2 = 29'8in—lb—52
2+ (g5 —)
Case 2. Cylinder J, = %mR2 k, = \ER

I 1
SRS

1 1
Jo=J, = Em(?’RQ +h) ke=k, =, /E(3R2 + 1)

Figure 10 — A cylinder properties
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